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9.1 HgeAg---—--—- J Teheh 3L
The unit of ------------ is Newton.
1. I¥GHT [Mass] 2.d1cT [Speed] 3. 9T [Density] 4.9¢c1 [Force]

7.2 “STRITT ATATS TRY YA 3o,

Identify the odd term regarding Gynoecium.

1. el [Stigma] 2. IR [Anther]
3. PefIgd [Style] 4. 3BT [Ovary]
.3 Qelicdd! HIvR e 3w g ?

Which of the following statement s correct.

S1. A TG gad! TTdRIGHT dqet.

S1.[The density of air also changes due to change in it’'s temperature.]

S2. o2 g T HHI BNl

S2. [In winter, the density of the air decreases.]

HIVIAT 4T T 3MTg ?

Which is the correct option?

1.S28RIER T S1 g [S2trueand S1false] 2.S2TH T ST RIS [S2false and S1true]

3.519 S2 8RR [S1and S2true] 4.819 S29d [S1and S2false]
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C.,H,, O, & TRATIIeh G WTetieddh! ot A 31Tg ?

Which of the following compound hasmolecular formulaC,, H,, O,,?

1. S9TSR [Sugar] 2. 915 [Salt]

3. U AIel [Washing Sodal] 4. QTOGTIT AT [Baking Soda]
B T ——— =~ =~ 3.

---------- is the unit of density.

1. fopett /3 [kg/em’] 2.99 /&Rt [g/em”]

3.3 [cm] 4. fpaid [kq]

AT A Teliel Jod HhR ST T ‘B’ et SuAielt ST,

Match the types of soil in column ‘A’ with theirusesin column‘B’.

Column ‘A Column ‘B’

a. forft gar i) T G ATOR Yefed o GlT aefuarRaTet g,
[China clay] [Itis used for making statues &idols]

b. g 7aT if) T g TR Py« UG I,
[Shadu sail] [Iltis used for making crockery]

c. CIPIET JaT i) T J<IT ITOR AT GITRATEATS &1,
[Terracotta sail] [Itis usedin cosmetics]

d. JeTaTT e iv) IT GQURIT AT FTECIed g S e ST,
[Multani soil] [ltis usedin decorative articles and pot used for growing plants]

1. a-i, b-ii, c-iii, d-iv 2. a-i, b-ii, c-iv, d-iii

3. a-ii, b-i, c-iv, d-iii 4. a-iv, b-iii, c-i, d-ii

______ 1 T g1 Aaerardl STTicres FaT i FgULT HTSIRT ehefl STl

............... is celebrated as a world soil day for the conservation of soil.

1. 53R [5" December] 2. 79 [7" April]
3. 29T [29" April] 4. 28 thgart 28" February]
Tl e TepaT T 10Tl SHIRUT DIOTT ?

What are causes of diminished soil fertility.
A.T<IT AT (pH) 6 Y& 1 /8 Y&l ST [Soil pH less than 6 or higher than 8]

B. AAfer ugrefa vET0r Y [Low proportion of organic matter]
C. STfaficiet aToTeIT f5=RT = 8101, [Improper drainage of water]
D. IIRIfh Wl fheah1ereh I JrferarR [Excessive use of chemical fertilizers and pesticides]

1. e A [Only A] 2.8l A B[BothAand B]

3.A,B,C[A,B,C] 4.A,B,C,DIE[A, B, C,Dalll

LPGd foaRia 9 ——————

LPG stands for ----------

1. foafdas Ueier 19 [Liquid Petrol Gas] 2. forfeamigs veiferm 14 [Liquified Petroleum Gas]
3. fetferae 3R 74 [Liquid Pure Gas] 4. FTUBT AT [None of the above]




9. 10

9. 11

9.12

9. 13

S1: NG AT RIS HYOUT IARF T eR et 3.
S1: Due to absence of chlorophyll, the cuscuta is completely dependent on the host plant.

S2 : 3FRACIE HYUf gRSfid J=vet Fgura.

S2: Cuscuta said to be completely parasitic plant.

DIV GAT AN 37T ?

Which is the correct option?

1. S2RISR T S1 g [S2trueand S1false] 2.S2TH T ST IR [S2false and S1 true]

3.819 S2 RIS [S1and S2true] 4.819 S29P [S1and S2false]
WletleTth! Pt faen fopvufiem ared sRIeN 31g.

Which of the following statement is/are correct about Irradiation.

A. ThRUlg ygydld SUgTAaR SR ehUT=IT fehruTTeT HIRT dheld.

A. Inirradiation, food is exposed to ionizing radiation such as high energy electron emitted by accelerators
B. &— =T F fhRUNCART FHRATIRIGIR ST IHTIRUT 3.

B. X-rays, gamma rays emitted by radioactive isotopes etc.

C. a1 uifchaqe gersita, grefl o fheeprar Arer gidl.

C. This process destroys the microbes, insect etc.

D. hoT fUhudTaT BlcATael areedries e gl HI g,

D. Shelf-life of fruits increases due to increase in ripening period.

1. % A [Only A] 2.A,BSRISR [A, B are correct]

3. 90T 94 SRR [All of the above correct] 4. A, B, CSRISR [A, B, C are correct]
fICRIT THRTCAT SR (+) AT SHOTUHR (-) et 1 ———————- T e e,

The scientist ------------ named the electric charge as positive charge (+) and negative charge (-) .
1. 31I37eh =g [Issac Newton] 2.]1eE g [Robert Hook]

3. SoTTfE Wepfer [Benjamin Franklin] 4. AT FAfiTT [Alexandar Fleming]

el TRINTIERGT el A& Al ol SRS 8T ——— ‘a’ ——— YT d S80I Shigd Bded™ ——— ‘b’
——— I, ——— ‘¢’ ——— Job TR IR Bl g IS0 ——— ‘d’ — —— Hob Ry Iara.

From the given experiment tell us that metals — ‘a’— on heating and — ‘b’ — on cooling solids expand
due to— ‘c’—and comeback to the original state if heatis — ‘d’---

a - TN [expand] b - I™UTAT [heat] c-Ug[cool] d-feeam [given]
a - U7 [expand] b - 3™UTAT [heat] C - 3™IdT [heat] d -Wﬁﬂ?&'ﬁ [removed]
a - TN [expand] b -341'@7-[ [contract] c-3™IdT [heat] d-Pprgd BRIk [removed]
a-37ga [contract]  b-TRRU [expand] c-JWidm[heat]  d-fedm [given]
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9. 15

9. 16

.17

9. 18

PIS3TetTofl TgUIS BRI ?
Whatis cardiology?
1. F3RAT ferfdpesm o

[Study of diseases related to eyes]

RIS HE RN

[To study the causes and effects of diseases]
3. g3y Fafdrer o

[Study of human heart]
4. TARIEIT 3TITT PRUTR IR

[The study of nervous system]

RIS ST IR T T e,

Which of the following statement is false about antibiotics.

1. uFRaforR R sl doge fhar Soiarer areft fafere et sitver eRRId e IMSiqaT 19T A=A g
RICIGIEANIC RN

[Capsule or injection of medicines like penicillin, these type of medicines destroy the pathogens and
refard their growth.]

2. farfére ST GerstaidRyg ufisifids saet ST e,
[Antibiotics cannot be produced with the help of specific microbes.]
3. JEYA T BIUT=IT IRTIERE Hfcrotfeives FRIm0T S .

[Plant diseases can be controlled with the help of antibiotics.]

4. T T gHR

[All of the above are false]

GTett fieledT e W d A, B, C, D FTd &I,

Choose the correct names of the following diagram to A, B, C, D.

1. A-uerefi™ g [Incisor] B - [Cannine] U—A
C - 3Ucre [Premolar] D -GIe [Molar] / (4— B

2. A-T [Molar] B -3U<Ie [Premolar] A / I/ })_ .
C -3 [Cannine] D - ye1efi g1 [Incisor] : %7 \/

3. A-?j@ [Cannine] B -3Uglc [Premolar] \
C-3Ie [Molar] D - gerefie g1 [Incisor]

4.  AUBT ATE [None of the above]

ST ST PHRUMAT AR —————— GG

The science which deals with the study of cell is called -----------

1. =TRIRA [Myology] 2. STa9=A [Biology]

3. ATOTeTRA [Zoology] 4. 997} {331 [Cytology]

SiTTferep femoft fiqq ———————- RINCENIRCIENCEGIR]

Which day is observed as World Sparrow Day?

1. 2097 [20" March] 2.55F [5" June]

3.219/ [21* March] 4,239 [23March]

(A4)
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9. 19

9.20

9.21

9.22

9.23

9.24

9.25

GTet! feted T FRIe &% A1 o Ik Fael.

Observe the following diagram and choose the correct option.
1. 3udhe} ugerd [Method of Centrifugation]

2. foreTiaxur ugerd [Method of Separation]
3. 3&AUTaH uged [Method of Distillation]
4. 35Thgey YUl UgHd [Method of Chromatography]

Concrete is prepared by mixing -----------

1. 9768, 3T 3MeA1SS, Y1, AT [silica, ironoxide, lime, alumina]
2. 916, 3G HAT, FRT, 4oft [sand, alumina, magnesia, water]

3. Ryvic, uroft, a1, WSt [cement, water, sand, gravel]

4.3g 19 2[Both 1 &2]

Tttt poret Teft AT 3.

Which of the following is a vector quantity.

1.9 [Time] 2. I [Mass]

3. 3[cR [Distance] 4. 1t T8l [None of the above]

ST IRDBIIT T DTG SRITH] DI T PRI ST,
Which type of foreces are acting in squizzing sugarcane juice with a squeezer.

1. J13% g1 [Mechanical force] 2. 1Y def [Muscular force]
3. 9901 97 [Frictional force] 4,594 91 [All of these]
3Meita R0 dveet TguTe 17 9ty fHaeT.

Choose the correct option regarding eclipse from the given diagram.
1. TSI [Lunar eclipse]

2. gIUE [Solar eclipse]

3. 978 BT fead [Zero shadow day]
4. AT TS [None of the above]

1 Hz meansthere is -----------
1. UehT ARAT T it [One oscillation in one hour]

2. Tl AhgId IR Sle™ [Hundred oscillation in one second]

3. UepT HehgTd Ueh GleiT [One oscillation in one second]

4. FTUDT AT [None of the above]

ot g1 - ————- 3P AT eIl g M8

Saptarshiis a group of ------------ bright stars.

1.91d [7] 2.dR [4]

3.10T 12[10t0 12] 4. ISP ATE [None of the above]
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9.26

v.27

9.28

9.29

9.30

Tt geffieiedT DI T YT & STRagTedT UHRIRE! 37TR.

Which of the following leaf has a structure similar to that of Hibiscus leaf ?

Involuntary muscles are located in ------------

1.573X [Stomach] 2. 371AS [Intestine]

3.8 [Heart] 4. TP T [All of the above]

TG, geeftHIercit Ueb ISR AR ——————— feeraret guf et

The moon complete one revolution around the earth in approximately -------------- days.

1. 24 1A [24 hour] 2.27.3f¢aq1d [27.3 days]

3. 365 f<aaTd [365 days] 4,12 f3a9a1d [12 days]

e IROT & —————— et Sl fAffed AR et ST,

Reading Inspiration Day is celebrated on the birth anniversary of .................

1. 31 .. ¥ [Dr. C.V. Raman] 2.31. QHS1. 37egeT el [Dr.A.P.J. Abdul Kalam]
3. 31, 1! 91T [Dr. Homi Bhabal] 4. 31, {asp" RS [Dr. Vikram Sarabhai

GTet! [SetedT GarT dressigde araT ARG ug i (e,

Read the following statements carefully and select correct option.

S1: LPG g WA AU 37101 &I 2 G 8 30:70 AT THTIT ST

S1: LPG gas contain mainly two components propane and butane in the ratio 30:70.

S2: LPG T&Rfed 3RIAT URg PIVRATE! DIV AT T HTeITIR eRId FHS[T A ST CIeTal. AT
MY “Sfret IRt g ol 9 fafare g AR STeTSHTOG fARTeselel 3.

S2 : LPG is a odourless gas but a small amount of a chemical called ethyl mercaptan which has a
strong characteristic odour is added to identify leakages.

ForQ.31to33

9. 31

9.32

9.33

1.S19 S29R1e% [S1 and S2 true] 2.S1 RIS T S2H [S1 true and S2 false]
3.519829% [S1and S2 false] 4.819d d S2 TR [S1 false and S2 true]
Yo-TfgTeaT STt A1 gty eneT,

Find the missing character from each.

7 8 6 5

SN, N, L,

1.20 2.35 3.55 4.15
5:150::7:7

1.343 2.392 3.215 4.140
2,10,30,68,7?

1.136 2.130 3.124 4.121

~
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9. 34

ferear wafardie et wafa fraer.
Choose the one which is different from the rest three.
1.272 2.342 3.442 4.506

ForQ.35to0 37

9. 35

9. 36

9. 37

U.38

9. 39

9. 40

9. 41

RG] T RTT BT ATedTehs Fg2ft aiesdT 75 UToft 31rad. TR avesdT 65 WUt 31T, € diosd
89 UTuf} 31T, AosT IiTewdT 71 UTUft 31T, T ATfRc R Wietlel 99 Scai foTgl,

Ramrao has some animals on his farm. One day he told his friend that he counted his animal and he
noticed that there are 75 animals except Buffaloes. 65 animals except Cows, 89 animals excepts
Horses, 71 animals except Goats. Find out the answers of the following questions.

rgofi=ht TveT foeett 2

How many animals of Buffaloes are there?

1.25 2.35 3.1 4.29
QrcsaTeT v fanett 2

How many animals of Goats are there?

1.75 2.65 3.35 4.29
TRUT YTUTT HeAT feheit ?

How many total animals are there?

1.71 2.165 3.300 4.100
fele YT A1 IR ATeg forgr.

Find out and choose the missing character 15)23)28

from the given alternatives. 49 1196| 7

1.100 2.64 819119

3.81 4.36

SR6295463498 73 AEAdlcl 94 fIwH 3fd S 7 HT dvel 3707 A I 37 T = dTeaet a” fanet
T USSR doT gARTg et gidl 2

If all the odd digits in the number62954 6 34987 are decreased by two and all the even digits are
increased by one, then how many numbers are repeated more than twice?

1.Uh [one] 2.g9 [two]
3. [three] 4. 9R [four]

Teiiel UeTHE QI gl STGetTage] o AHIhRUT GRove &bl

Correct the equation in the following question by interchanging two signs.
5x11-1000+20+20=25

1.+ 3mfor- [+ and -] 2.+ 3707 x [+ and x]

3.+ 31T + [+ and +] 4.+ 30T - [+ and -]

TapT fAfATe Ahfrds TNd ‘ANT @7 ‘ZMS’ 31T ‘MAN’ &7 ‘LZM’ 31 fotfget STTal. < Saidbfares Id ‘BAG
TS} PlIS BRI 7T ?

In a certain code language ‘ANT’ is written as ‘ZMS’ and ‘MAN’ as ‘LZM’. What is the code for ‘BAG’ in
that code language?
1.CZH 2.AZH 3.AYH 4. AZF

~
~
~



For Q. 42 to 44

g.42

9.43

Y. 44

9.45

Y. 46

9. 47

9. 48

9. 49

9.50

GTellet HIfE Presiydd arm S Wlet! fSeted Hel I S,

Read the following information carefully and answer the questions given below.
543698215367505630710934

ITT CIPTURET T 12T TChIed] STalheiel HEaT fauH 37eh WaieTich! ShIUT 3RIeT ?

Which of the following will be the sixth odd digit to the left of the fourth term from the right end?
1.9 2.1 3.7 4.3

TeATeTUhT IV 37ch ST SIBTART ST ShTT IoTdchs HITAT 3MTg ?

Which of the following digits is seventh to the right of the eighth digit from the left end?
1.3 2.6 3.1 4.5

ST SIBTIRIT foRA=T STTOT STehTedT 3iehiwea) foheft T 3idh 31ed ?

How many even digits are there between the third and eleventh digits from the leftend?

1. 9T [five] 2. [three] 3. 3115 [eight] 4.3H [two]
SMpcieiter mefergreaT SR A AT forgT. s o612

Choose the correct alternatives from given.

1.729 2.730 7150 325

3.731 4.727 9182 *

49:343::144:7?

1.864 2.1728 3.288 4.196

QU 5.15 TSI T3 TRIPICT d fAfHedhrer areard bl 3T BIF TR gige ?

What will be the measure of an angle between the hour hand and minute hand of clock at5.15 p.m.?
N 1° 1 2

1.372 2.522 3.672 4.822

SR J =10 371 JAM=130R JAR = ?

If J=10and JAM =130then JAR="7
1.140 2.150 3.170 4.180

Ul TSATOME QU 12 ATSTeiel ATed R ATe TRIPICT ST 2T SRIa! TR T QURY QIS dToTll caral
TR PICT DI fEAeTT 3T ?

Ifitis 12 o’clock in the afternoon in a clock, its hour hand is pointing north-east, then in which direction
willits hour hand be at1.30 p.m. ?

1. 3R [North] 2. férr [South] 3. ufeEH [West] 4.9d [East]
45 facaretear gfa Sion Wi 31 ST TR ATg ST B AT TR T a_a! e, SR GRH!
HINLIT TR AT IRl RIS TR it GRHT ehieh febell 2

In a class of 45 students, Veena is ranked 31°* from the bottom and Kashish is four positions above
Veena. If Surbhiis four places above Kashish, whatis Surbhi’s rank in the class?

1.6" 2.7" 3.5" 4.4"

(3mmueaT weufada 50 e 3ied™ (OMR Answersheet) ScaR Uf3ibd WeF HHid 1 d 50 Rfda Scar Aicardid.)

(a1 geTuferdt IR T (Answer Key) €/ fGad www.drevramanexam.in JeRI5caR U gl )
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